SLIDE CYLINDER

JO-12, 16, 20, 25, 30

B £Z (Character)

710|1E 2HMH 2-2E &210|E A2
2 Rod Slide cylinder with integrated guide
PLATE %, TABLE 0|£0| £=2H(JC TYPEZH| 1 & &%)

Main purpose is to fix plate and transfer table
(Comparison and Reference: JC Type)

TABLE 11, PLATE 0|& & MEHAFZ(J020 25,30)0| 7}=5}HH
Oy offoj 2 ELF MM = DHER0)| ALE=| =5 HEELICH

The use of J020, 25, 30 is optional for fixing table and
transferring plate. At that time, Air port and sensors are
delivered to be used in fixed area.

IXNE 0|42 B-TYPE (BALL BUSHE AL2)1} ZH|Z 0l
N-TYPE(SLIDE DU BUSH A}2]0| 21l0{ MEH Al20]| 7=

The use is optional due to high precision B-type (Ball Bush)
and economical N-type (DU DRY BUSH)

YXIHUEE 0IIHE MM B2t

Attaching magnetic sensor is available for open-close sensing.

ZY|0|E == Hi| 0|58 222 A2 ( Plate or body transfer type, 2 rod )

AET
( Stopper)

3l RN
ocHgl—‘—Eo

adjust the stroke
Az i

( Cylinder body )
BHEE Mele 2F0|=es

created aluminum alloy
with anodized

AM LI

( Positioning of Sensor )
OI4IE] MA A

for magnetic field sensor

755 (Drive)

HEAl

—o

double acting

ZY0|E pneumatic cylinder

(Plate)

0l i THE S20lE

transfer or fixing plate

www.jrtfa.com m




Jo

g . &2 FZollee B HIES ASIICERE JIBUE Ko7t 32 5 ASH
E TETI_—OHE [ EXplOded View ] % This is exploded view illustrates a certain product only. The contents may vary by product models.

— Snap Ring Cylinder Body
— L.M Bearing

— Rod Cover

— Rod Packing

0-Ring

Frame

Spacer Collar

Piston Rod

Rod Packing

Wear Ring

Piston Packing

— Piston

Stopper Bolt — Plastic Magnet

304 www.jrtfa.com m



B 27|32 (Howto Order)

257
Shock Absorber

2|5 - AE
DA- ZEgElel Sotau)
DN - H|ZHHER] et}
“HIZ0l| FAElE SthHt AR S X
sotaul A HOIRIS & HigIc
*Note
S JO012-M5 x P0.8 (£ 2tiH| B4 27}
Sl ola (Shock absorber is not illowed to be attached)
J016-M8 x P1.0 (=X £0t4H| 27}
= " J012:15 - 50(25)mm Transfer (Adjustable type shock absorber is not applicable)
= J016:15 - 75(40)mm Ty 27| J020-M10x P1.0 (=Y &kl 271

4 T ===

Product Bush J020:20 - 100mm -Eo[20|a [Adjustable type shock absorber is not applicable)
= o

Name B-=e| J025:20 -150mm o, J025-M12xP10  JO30-M14xP15
L . -
NorSo[s J030:20 - 200mm _Za0|=0j&  Nil- Stopper

Alz|o=IA QE_'E) cey ) 2+2 B TypeQ| DA - Adjustable Type
s=me - SEI0[E FA Z|CHR| AR oljcp  TMorNil DN - Non Adjustable Type
Bore Size B - Ball Bush . ) - Table Moving * For the specification of shock absorber attached

12, 16, N or Nil i ]I\(/aluefséa;e themaxpiny B . to the product and the shock absorber dimension,
20, 25, 30 - Slide Bush strokes of b fype - Plate Moving refer to details of shock absorber part.

T

JO 20 B ™ 3M - DA

HAjg HAt HA 4 2o P

Sensor Type Number of Sensor Cable Length Number of

Sensor N Absorber
715 - MM U BRHSES HB5IR| oAUt 11 F/12-1m
RS(IZE4]) 7|21A], EAjollA Hgfet elojo| 215 - 24 =l 1- 1A
MME H-stof 2ate) S, T = A
e _ 1-Tpe. Q] - 74| A - Tpe.
*HZo]| 22 7tsst ’:‘i“‘i T U TR 5= Nil - 2pcs. * S{E] Aj2F 3 TH=0f=e MA] Nil - 2pcs.
ﬁW (A;,"A‘Il .IT‘”O'K'% Q—’F— H|'1E=I'L‘|E'|'. AbM| H|O|X|E &7 HIZH|C}H
o = = .
Nil - Sensor and relevant components are not supplied.
When entering RS(existing method), our Head Office will
attach a suitable sensor selected at its option.

Nil- Tm

3M-3m

5M - 5m

Q - Quick connector

* For the specification of connector
and availability, refer to details of
sensor part.

* For the specification of sensor attachable to the product
and the sensor order code, refer to details of sensor part.

www.jrtfa.com m




B | ZARE ( Specification )

P=37|¢ (bar) , St=84%(mm)
P=Air Pressure(bar) , St=Stroke(mm)

HES 1012 1016 1020 025 1030 =
Products Name Unit
=N
ECHS 50(25) 75(40)
Z| A5y
M!n Stroke 15 15 20 20 20 mm
;ﬁﬁ'—?—a‘ 16.68P 29.63P 46.21P 74.16P 99.28P N
ush Power
2= 16.68P 29.63P 46.21P 74.16P 99.28P N
Pull Power
ikt 300 300 300 300 300 mm/sec
ax. Speed
ES o] Ereiey
Min. Speed 50 50 50 50 50 mm/sec
@';g‘h’f & N typel 0.16+0.0025t | 0.34+0.003St | 0.6+0.0045t 0.9+0.007St | 1.45+0.01St kg
B2 (B typel 0.28+0.0025t | 0.48+0.0035t | 0.88+0.0045t | 124+0.007St | 2.2+0.01St kg
RS M5 M5 M5 M5 PF(G) 1/8
itting size
A0S esltad 0.2x5t 0.3x5t 0.5x5t 0.8xSt 1.0xSt cm?
ir consumption quantity
orEmyEE
Repetition Accuracy 0.1 mm
NEHE]
Operating pressure 3to7 bar
Xo'%E B i
_A|r—n-|;ient temperature Sto 60 C
B2 £Z/2 Needless
Lubrication

#( ) eh2 B Type o) Z|CHH|ZHH Qlu|ct.
# () values are the maximum stroke of B Type

NOTE

306 www.jrtfa.com m



2x2-®3.3D THRU
®6C'B DP4

MAGNETIC SENSOR

6-M3 DP5 I /
[ o[

10 | STROKE+2 STROKE+40

STROKE+10 | 15

Ie]
~

2-M5 (AIR PORT)

2xSTROKE+64

2-M5 (AIR PORT)

2x2-03.3D THRU
®6C'B DP4

2xSTROKE+52

2-(M5x0.8p)
STOPPER

=]

6-M3 DP5

MAGNETIC SENSOR

10

STROKE+2

STROKE+10 29

STROKE#68

2xSTROKE+92

2-M5 (AIR PORT)

2-(M5x0.8p)
STOPPER

| STROKE+10 |

2x2-M4 DP8

2xSTROKE+88

www.jrtfa.com m




MAGNETIC SENSOR M4 DP6

2x2-®4.3D THRU =
®8C'B DP4.5 1

STROKE-+50 |
2xSTROKE+80 MAX:13
DA:26

2-M8x1.0p

2x2-M5DP8

2xSTROKE+64

MAGNETIC SENSOR

2x2-®4.3D THRU
®8C'B DP4.5

7o)
o

= O
e g\l

—>f

| STROKE+10_|
STROKE+80
2xSTROKE+110

| STROKE+12 34

2xSTROKE+94

www.jrtfa.com m




2x2-®4.3D THR!
X2-04.3 U MAGNETIC SENSOR 2x2-M5 DP10

®8C'B DP5 m

ol s
25 STROKE+10 | 225
STROKE#2 ~ STROKE+S5
2(STROKE+83

2-M5 (AIR PORT)

2x2-M5DP10

2xSTROKE+71

JO-20B

2x2-®4.3D THRU

3CB DPS MAGNETIC SENSOR 2x2-M5 DP10

A g
| STROKE+10 | 2

STROKE+2 ~ STROKE+99
2STROKE#127

DA:35

2-M10x1.0p

2-M5 (AIR PORT)
STOPPER

™

~

STROKE+17

ROD(®10)

2xSTROKE+115

www.jrtfa.com m




JO-25N

2x2-05.2D THRU MAGNETIC SENSOR 2x2-M6 DP12

®9.5C'B DP6 w m Efé-M5 DPé

STROKE+10
14 | STROKE+2 STROKE+60
2xSTROKE+92 MAX:14
DA:57
2-M5 (AIR PORT) 2-M12xp1.0
STOPPER

2xSTROKE+78

JO-25B

2x2-®5.2D THRU
®9.5C'B DP6 MAGNETIC SENSOR

STROKE+10

14 | STROKE+2 ~ STROKE+106 |
2xSTROKE+138 MAX:14
DA:57

2-M5 (AIR PORT) 2-M12xp1.0

STOPPER

STROKE+16

2xSTROKE+124

www.jrtfa.com m




2x2-05.2D THRU
®9.5C'B DP6 MAGNETIC SENSOR / 6-M6 DP8

B 2
30 | STROKE+10 | 30
| STROKE+2 STROKE+70

2xSTROKE+106

w| 2-PF(G) 1/8 [AIR PORT)

STROKE+20

2xSTROKE+90

2x2-05.2D THRU

®95CBDP6;  MAGNETIC SENSOR 6-M6 DP8 22-M6 DP13

[

| STROKE+10
| STROKE+2 STROKE+128

2xSTROKE+164 MAX:22
DA:53

] 2-Mllxp1 5
2| 2-PF(G) 1/8 (AIR PORT) STOPPER

STROKE+20

ROD(®16)

2xSTROKE+148

www.jrtfa.com m






